Etvou

5<f(x) <10 = 5x* < x*f (x) <10x*

)

Omnorte
Ligg(5x2) =0
lim (10x2) =0

5x* < x*f (x) <10x°

Etvou

x-3)*20
2<f(x)<8 =
Onote

2

(x+1)°=0

517 1)
KpTipLo Tapeppoli
= |XiLT(1)f (X) =0
517  2)

5.17

KPLTHpLo TopEUBOATG

“3<f(x)<12 = —3-(x+1)° <(x+1)°-f(x)<12-(x+1)’

fim -3 (x+1)" =0

lim

-3 (x+1)° <(x+1)" - f(x) <12-(x +1)°

Eivan

Hil[lZ-(x +1)2} -0

(2x-6)*>0

5.17

= limf (x)=0
3)

KprTipLomapeuBorng —
= |imf(=0
4)

5<f(x)<25 = 5:(2x—6)" <(2x—6)"-f(x)<25-(2x-6)’

Omnorte




lim| 5-(2x-6)" | =0

x—3
lim| 25-(2x~6)" |0 =

4 4

5-(2x—6)" <(2x—6)"-f(x) < 25-(2x—6)

517  5)
Eivan

(x2 —x—2)220

an(X)SB = a-(xz—x—Z)z S(Xz—x—2)2-f(x)SB-(XZ—X—Z)

Onote

lim (x-(x2—X—Z)Z}:a-[(—l)z—(—1)—2}2 —0-0=0

X—=>=1|

lim B-(xz—x—2)2}=5.[(—1)2—(—1)—2}2 ~B-0=0

X—=>-1|

(x-(XZ—X—Z)Z S(xz—x—z)z-f(x)s[?)-(xz—x—Z)2

KPLTAPLO TOLPERPBOATG

limf (x)

X—3

0

KkpiriplomopeUPorng
=

2




